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X #E R H TN 7 KRa BB 1FoHE KB E
ke H D 20184E11H13H KIEH
& B ERIV 7 EEE=47C 6,914 Yard Par 72

ERE AR D)L 7 EE

AR T ARFHE OUT 40 IN 35 GROSS 75
A =R AT ouT 39 IN 36 GROSS 75



X 8 ht a7 R&E BB FoH pkEE
EH . 2018411 H13H KIEH
& B RN 7 RBE=Z4C 6,914 Yard Par 72

TOTAL | Bz | TOTAL | NET TOTAL | B | TOTAL | NET
MAaEE &
484 1 492 4 4314 1
K % OUT| IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
/8 # E = 42 | 35 77 *| 6.0 |71.0 B Z & @Al = 38 | 38 76 *| 60 |700*
X E 3 37 | 42 79 *| 84 |706 /a2 I F B 39 | 37 76 *| 36 |724*
B OH E OB 42 | 38 80 *| 7.2 |72.8 F 0O H X 41 | 39 80 *| 36 |76.4
M| 43 | 39 82 *| 96 |724 w B B K X 41 | 43 84 *| 120 |72.0*
= B N 39 | 43 82 *| 108 |71.2 = OB M @ 39 | 47 86 *| 18.0 |68.0*
B = JIl B sA 43 | 41 84 *| 84 |75.6 n o= = 47 | 43 90 *| 156 | 744*
ool = = 49 | 43 92 | 16.8 |75.2 B B B & 53 | 42 95 | 204 |746*
TOTAL | JEfZ | TOTAL | NET TOTAL | B | TOTAL | NET
=1 TH
491 2 502 5 4456 12
K £ OUT | IN |TOTAL|HDCP| NET K 4% OUT | IN |TOTAL|HDCP| NET
5 KB E = 38 | 40 78 *| 72 708 B K F = 40 | 35 75 % 0 |750%*
| 5= 38 | 41 79 *| 48 |742 W B\ A 42 | 40 82 *| 120 |700*
X B & = 38 | 43 81 *| 96 |714 fE B = 39 | 43 82 *| 84 |736*
m o R @& 40 | 43 83 *| 120 |71.0 w B’ OFE - 43 | M 84 *| 120 |720*
X B 5 43 | 42 85 *| 144 |70.6 FH i — BB 45 | 43 88 *| 7.2 |808*
F B K 7 46 | 39 85 *| 12.0 |73.0 B K B 43 | 48 91 *| 168 |74.2*
B it 44 | 43 87 | 132 /738
TOTAL | ESZ | TOTAL | NET TOTAL | J[EGz | TOTAL | NET
FEHE e
492 3 504 6 (4316 2
K £ OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL|HDCP| NET
wom — % 38 | 38 76 *| 48 |71.2 5 & #® 17 39 | 36 75 *| 24 |726*
£E I # - 41 | 39 80 *| 96 |704 5 & F Ik 41 | 39 80 *| 6.0 |740*
H pd 42 | 39 81 *| 7.2 |738 m 8 F A 42 | 41 83 *| 108 |72.2*
D N 42 | M 83 *| 96 |734 Bz B OB & 45 | 42 87 *| 144 |726*
5k H 5 43 | 40 83 *| 120 |71.0 m E OB 44 | 44 88 *| 18.0 |70.0*
W @B\ & B 42 | 47 89 *| 156 | 734 B H# L 42 | 49 91 *| 156 | 754
W B = 5k 47 | 47 94 | 216 |724 X H il 46 | 47 93 | 228 702%*




X W H TN 7 KA
SEHEE D 20184E11H 13H KN

— & B F O #

o &

2 L RO 7B =IC 6,914 Yard Par 72
TOTAL | Bz | TOTAL | NET TOTAL | 6z | TOTAL | NET
EAR HA
508 7 /4486| 14 514 | 10 (4456 11
K £ OUT| IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL HDCP| NET
== IS 1 I S - 41 | 39 80 *| 6.0 |740* X B e 41 | 39 80 *| 84 |71.6*
nh F OE B 42 | 40 82 *| 12.0 |700* X & 5 40 | 42 82 *| 96 |724*
E O3 =" OE 42 | 42 84 *| 84 |756% woXx ot 40 | 43 83 *| 144 |686*
H H E - 41 | 44 85 *| 96 |754* B £ B 5h 45 | M 86 *| 72 |788*
X Ww B ¥ 48 | 39 87 *| 120 |750* X B i 47 | 42 89 *| 10.8 |78.2*
5 & - B 49 | 4 90 *| 84 |816  oom & B 45 | 49 94 *| 180 |76.0*
®OE g 47 | 46 93 | 144 |786*
TOTAL | Bz | TOTAL | NET TOTAL | 6z | TOTAL | NET
ik FE
510 8 [(439.2 5 515 11 14406| 7
K & OUT | IN |TOTAL |HDCP| NET K & OUT | IN |TOTAL|HDCP| NET
Mm R - % 39 | 38 77 *| 84 |686* i H 1E 41 | 40 81 *| 96 [714*
roE B OE 41 | 43 84 *| 84 |756* = % = 40 | 42 82 *| 12.0 [700*
kR X & — 4 | M 85 *| 10.8 |74.2* B % 40 | 46 86 *| 13.2 |728*
X B o 43 | 44 87 *| 108 |76.2* X w B - 44 | 43 87 *| 120 |750*
+ B B i 42 | 46 88 *| 16.8 |71.2* X QA g 46 | 42 88 *| 144 |736*
W B ® B 44 | 45 89 *| 156 |734* B O3 9 ®E O£ 45 | 46 91 *| 132 |778*
N ® O EZE Z OB 48 | 42 90 9.6 |804
TOTAL | Bz | TOTAL | NET TOTAL | 6z | TOTAL | NET
ARE )1 1]
514 9 [4396| 6 517 12 |(4474| 13
K £ OUT | IN |TOTAL|HDCP| NET K & OUT | IN |TOTAL|HDCP| NET
M o= E A 39 | 40 79 *| 72 |71.8* T 2] 37 | 42 79 *| 6.0 |73.0*
N0 b 44 | 35 79 *| 6.0 |730%* X HF B B 41 | 42 83 *| 84 |746*
X #F 58h = 40 | 40 80 *| 48 |752* ®x B (] 43 | 43 86 *| 10.8 |75.2*
W T ®H  H 48 | 42 90 *| 16.8 |73.2*  HF E B 43 | 45 88 *| 144 |736*
® OE B = 45 | 46 91 *| 16.8 |74.2* H & & KX Ef 44 | 45 89 *| 13.2 |75.8*
B & ® - 51 | 44 95 *| 228 |72.2* E H E M 45 | 47 92 *| 168 |75.2*
i B O # % 51 | 47 98 | 21.6 |764 w OB — = 44 | 48 92 | 144|716




X Wb a7 KE BB 10 H BHEE
e H D 2018411 H13H KIEH
& B FROOV 7 EBE=4AC 6,914 Yard Par 72

TOTAL | JEGZ | TOTAL | NET TOTAL | IBfZ | TOTAL | NET

KHEE NI
521 13 (4514| 15 524 | 16 4416| 8
K £ OUT | IN |TOTAL|HDCP| NET K 4% OUT | IN |TOTAL|HDCP| NET
E B B A 41 | 42 83 *| 72 |758* A =) 44 | 39 83 *| 84 |746*
B BH B # 45 | 40 85 *| 120 |73.0* [T 1| B~ -G 43 | 42 85 *| 132 |71.8*
/NN = 48 | 38 86 *| 10.8 |75.2* N B R B | 42 | 43 85 *| 10.8 |74.2*
#® B — BB 44 | 43 87 *| 10.8 |76.2* N R 47 | 42 89 *| 144 |746*
FOBE OB & 43 | 44 87 *| 12.0 | 75.0* 2 B # A 45 | 45 90 *| 144 | 756
oI B = 50 | 43 93 *| 168 |76.2* L H 3 49 | 43 92 *| 16.8 |75.2*
X B m M 49 | 46 | 95 | 156 |79.4 & O # 44 | 50 | 94 | 228 |71.2*
TOTAL | JEfZ | TOTAL | NET TOTAL | L | TOTAL | NET

BESLL KB
523 | 14 4338 3 524 | 17 |4440| 10
K £ OUT | IN |TOTAL|HDCP| NET K 4 OUT | IN |TOTAL|HDCP| NET
B % B B i 42 | M 83 * 96 |734* W # % 42 | 36 78 *| 48 |732%*
X B #H - 40 | 43 83 *| 120 |71.0* i B N R x 41 | 38 79 *| 60 |73.0*
t BB 5 B & 46 | M 87 *| 16.8 |70.2* & W =5 41 | 47 88 *| 144 |736*
X #H 8 B 45 | 42 87 *| 132 |73.8* 2 H E — 45 | 44 89 *| 144 |746*
B % & = 47 | 44 91 *| 192 |71.8* B W & B 49 | 44 93 *| 12,0 |81.0
¥y H = 48 | 44 92 *| 144 |77.6 B 8 x - 52 | 45 97 *| 240 |73.0*
T B H *x 50 | 44 94 | 204 |736* B B JFE BB 54 | 55 | 109 | 324 |766*
TOTAL | JBfZ | TOTAL | NET TOTAL | Bz | TOTAL | NET

=R Bt
523 | 15 4438 9 530 | 18 |4374| 4
K & OUT | IN |TOTAL|HDCP| NET K 4 OUT| IN |TOTAL|HDCP| NET
H OE 3 42 | 43 85 *| 10.8 |74.2* = B F E 40 | 40 80 *| 84 |71.6*
x H O F =z 42 | 44 86 *| 12.0 | 740* # X B (= 44 | 44 88 *| 144 |736*
h B B X 44 | 43 87 *| 13.2 |738* =3 B X H 44 | 45 89 *| 18.0 |71.0*
B A IE & 44 | 43 87 *| 120 |75.0* g W A 50 | 41 91 *| 180 |73.0*
T & E 45 | 43 88 *| 156 |724* » KX F B 46 | 45 91 *| 180 |73.0*
3 i A 46 | 44 90 *| 156 |744* E B B - 43 | 48 91 *| 12.0 |79.0
B/ K F = 49 | 50 99 | 19.2 |79.8 VN N = 50 | 42 92 | 168 |75.2*




X R B TNV T Ra - BB F o

e H 2018411 H13H KIEH
& B ERIN 7 HEBE=47C 6,914 Yard Par 72

TOTAL | JE6z | TOTAL | NET

T4
536 19 4540 16
K 4% OUT | IN |TOTAL|HDCP| NET
& W - 42 | 45 87 *| 7.2 |79.8
" E E 7 43 | 44 87 *| 108 |76.2*
X HF M = 46 | 43 89 *| 132 | 75.8*
H# H E A X 43 | 46 89 *| 120 |77.0*
K E O 46 | 46 92 *| 156 |764*
m B E  F 49 | 43 92 *| 192 |728*
o nm K 49 | 46 95 | 192 |758*

o &



